
GF0600017RevB14	 1

5532B: CHROME HAMPER 
ASSEMBLY INSTRUCTIONS
PLEASE SAVE THESE INSTRUCTIONS FOR FUTURE USE

Info: The most current version of these instructions can be found online at www.grahamfield.com.

SAFETY GUIDELINES - PLEASE READ BEFORE USE

	WARNING: Important: Read and understand these instructions before 
assembling or using the Chrome Hamper. Ensure that the Chrome Hamper is 
assembled as described in the following paragraphs before use. If the Chrome 
Hamper is not properly assembled, personal injury and/or property damage 
could result.

	WARNING: If components are damaged or missing, contact your Graham-Field 
authorized distributor immediately. DO NOT use substitute parts.

	WARNING: Notice for California Customers- California Proposition 65 
WARNING: This product contains a chemical known to the State of California 
to cause cancer and reproductive or developmental harm.

	WARNING: GF Health Products, Inc. assumes no responsibility for any damage 
or injury caused by improper assembly or use of this product.

HAMPER ASSEMBLY (REFER TO PICTURE AT RIGHT)
Tools needed: 9/16" wrench, 1/2" wrench, 3/8" wrench

1.	 Install locking casters on the front end of the base as 
shown, upward through bottom tube. Install non-locking 
casters on the rear end of the base as shown, upward 
through bottom tube.

2.	 Install lock washers and 3/8" hex nuts on caster stems. Use 
9/16" wrench to tighten. 

3.	 Insert vertical tubes in the base as shown, until their snap 
pins lock into place in the holes in the base.

4.	 The bag holder rod is optional. If desired, insert it through 
the vertical tubes as shown. Install 1/4" lock nuts on the 
ends. Use 3/8" wrench to tighten.

5.	 Install the top frame and lid on the vertical tubes until 
vertical tube snap pins lock into place in the holes in the 
top frame and lid.

6.	 Insert top ends of connecting rods from the rear through 
holes in lid. Install 5/16" nuts on ends of connecting rods. 
Use 1/2" wrench to tighten.

7.	 Insert bottom ends of connecting rods through holes in 
foot pedal, facing inward. Install 5/16" nuts on ends of rods. 
Use 1/2" wrench to tighten.

	WARNING: Ensure that all parts of Chrome Hamper are secure and assembled 
as instructed before use.

non-locking
caster

bag holder
rod
vertical
tube

base

locking
caster

foot pedal

connecting
rod

top frame and lid

5532B Chrome Hamper



www.grahamfield.com

GF Health Products, Inc. is not responsible for typographical errors. For the most updated and current information on packaging, warranties, products and 
specifications, including the most current version of these instructions, please visit our website at www.grahamfield.com.
Graham-Field and Lumex are registered trademarks of GF Health Products, Inc.

© 2006 GF Health Products, Inc. • 2935 Northeast Parkway, Atlanta, GA  30360 • tel 770-368-4700 • fax 770-368-2386 • Made in Taiwan

GF0600017RevB14	 2

MAINTENANCE / CLEANING
To clean the Chrome Hamper, wash it with soap and water or a mild detergent, then rinse.

s	 DO NOT use abrasive cleaners or scouring pads on this product.

LIMITED WARRANTY
The following warranty information is a SUMMARY of the complete Product Warranty provided by GF 
Health Products, Inc. For the complete warranty, please visit our website at www.grahamfield.com.

GF Health Products, Inc. (“GF”) warrants to the original retail purchaser or lessee (either is the 
“Customer”) only, that it will replace or repair components, at GF’s sole discretion, that are 
defective in material or workmanship under normal use and service. The warranty is for parts only 
and does not include labor or costs of shipping. All warranties are conditioned upon the proper 
use of the product strictly in accordance with applicable GF instructions. Product provided to 
users as rentals must be serviced by the provider and inspected prior to delivery. Each user must 
be properly trained on the operation and safety of this product prior to use. Within the guidelines 
set forth in this document, the frame is warranted for three (3) years and the normal wear 
components such as tips, wheels/casters, and handgrips are warranted for three (3) months. The 
applicable warranty period shall commence from date of shipment to the Customer, unless there is 
an expiration date on the component in which case the warranty shall expire on the earlier of the 
warranty period or the expiration date.

OBTAINING WARRANTY SERVICE
This limited warranty shall only apply to defects that are reported to the Dealer from whom the 
Customer purchased the product within the applicable warranty period. If there is not a Dealer, 
you must contact GF directly by calling 678-291-3207, sending a fax request to 770-368-2386 or by 
e-mailing a request to cs@grahamfield.com. Specific directions will be provided by the Customer 
Service Representative.

EXCLUSIONS
The warranty does not cover and GF shall not be liable for the following: 1) Defects, damage, 
or other conditions caused by misuse, abuse, negligence, alteration, accident, freight damage, 
tampering or failure to seek and obtain repair or replacement in a timely manner; 2) Products 
not properly installed, used, or cleaned and maintained; and 3) Labor or shipping charges. Other 
exclusions apply.

ENTIRE WARRANTY, EXCLUSIVE REMEDY AND CONSEQUENTIAL DAMAGES 
DISCLAIMER
THIS WARRANTY IS GF’S ONLY WARRANTY AND IS IN LIEU OF ALL OTHER WARRANTIES, EXPRESS 
OR IMPLIED.

For the complete warranty for this product, please visit our website at www.grahamfield.com.


